Genesis 1:11





- this is the WA consecutive conjunction, meaning “Then” plus the masculine plural subject from the noun ‘ELOHIM, meaning “God” plus the third masculine singular qal imperfect from the verb ’AMAR, which means, “to say.”  The phrase is translated “Then God said.”

- this is the third feminine singular hiphil jussive from the verb DASHA’, which means, “to cause to sprout” or “to cause to shoot forth.”  The jussive is a special form of the imperfect used only in the third person, in which permission is given for the subject to perform the action.  It is translated “let the earth sprout...”

- this is the definite article and common noun ’ERETZ, which means “the earth” and referring to the dry ground which has appeared out of the seas.

- this is the masculine singular noun DESHE’, which means “grass, shoots.”  It is the cognate accusative from the previous verb DASHA’ and refers to new plants coming up out of the ground; hence, the word “vegetation” found in the NASV is an excellent translation of this word in this context.

“Then God said, ‘Let the earth sprout vegetation...’”
- this is the masculine singular noun ‘ESEB, which means “herb, herbage.”  The description that follows shows that this type of vegetation produces seed.  Since many more plants than just herbs produce seed, the limited translation “herb” is inadequate for this verse.  Thus the NASV uses the translation “plants” which is an accurate description of the thought here.

- this is the masculine singular hiphil participle from the verb ZARA‘, which means, “to produce seed.”

- this is the masculine singular cognate noun from ZERA‘, which means “seed.”  The phrase is translated “plants producing seed.”

- this is the masculine singular noun ‘ETS, in the construct state, which means “tree of” and is used in the singular in a collective sense, translated “trees of.”

- this is the masculine singular noun PERI, which means “fruit.”  With the previous construct state in ‘ETS this means “trees of fruit.”

“Then God said, ‘Let the earth sprout vegetation: plants producing seed, trees of fruit,’”
- this is the qal participle masculine singular from the verb ‘ASAH, which means “to make or to manufacture something out of something.”

- this is the masculine singular noun PERI, meaning “fruit.”

- this is the preposition LE plus the masculine singular noun MIN with the third person suffix, meaning “according to its kind, species.”

“Then God said, ‘Let the earth sprout vegetation: plants producing seed, trees of fruit making fruit according to its species,’”
- this is the relative particle ’ASHER, which is “a sign of relation, bringing the clause introduced by it into relation with an antecedent clause.  As a rule ASHER is a mere connecting link, and requires to be supplemented by a pronominal suffix or other word which defines the nature of the relation more precisely, e.g., in Gen 1:11, the phrase is literally “as to which, its seed is in it” which means “in which is its seed.”

- this is the third masculine singular construct from the noun ZERA’, which means “seed.”  This also has the third person singular suffix “his, her, its.”  Connected to the construct noun is the preposition B with the third person singular suffix “his, her, its.”

- this is the preposition ‘AL plus the definite article and noun ‘ARETS, which means “on the earth.”

- this is the WA conversive plus the qal imperfect from the verb HAYAH plus the construct form of the particle CEN, which means “And it was so.”

Gen 1:11 corrected translation
“Then God said, ‘Let the earth sprout vegetation: plants producing seed, trees of fruit making fruit according to its species in which is its seed on the earth’.  And it was so.”
Explanation:
1.  God the Father gives another command.  The next logical progression in the restoration of the earth is bringing forth vegetation.  Two types are mentioned.


a.  Plants that produce seed.


b.  Plants that produce fruit.

2.  Plants are commanded to produce according to their own genetic code, just as all animals will, and just as man will.


a.  The phrase “according to its species” refers to the genetic coding, which plants must follow.


b.  An apple will always be an apple.  There may be different kinds of apples, but apples will be apples.


c.  Grass will always be grass.  Wheat will always be wheat.  Corn will always be corn.


d.  All plants will reproduce according to their own species.

3.  Notice that the plant life came one day before the sun, which is essential for providing light by which plants live.


a.  Why did the plants come before the sun?  So that God’s creatures (both angels and mankind) would understand that the plant life depended upon God and not upon the sun.  


b.  In the same respect all animal life depends upon the care and provision of God.


c.  These are both teaching aids for man, who must ultimately realize that all human life depends upon God, and not upon nature or anything that one’s fellow man can provide.
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